
 

 

 
 

 

Fitting 

Instructions 

 
TOWBAR 

For MITSUBISHI   SPACE WAGON & 
RUNNER 2WD & 4WD 

From October 1991- 

 

CL56B 

MATERIALS 
A 1 Cross Bar 
C 1 Centre Tube with international facing to ISO 3853 (BS AU114) 
D 2 M10 x 35 x 1.25mm fine pitch Bolts, Lock Washers and Flat Washer (20mm O.D.)  
D1 2 Rear mounting cleats (1 off each hand) 
E 2 Side Plates 
F 4 M10 x 30 x 1.25mm fine pitch Bolts, 2 Nuts, Lock Washers and Flat Washers (20mm O.D.) 
G 2 Forward Mounting Cleats 
H 2 M10 x 1.25mm fine pitch Nuts, Lock Washers, Flat Washers (20mm O.D.) and Large Flat Washers  
  (40mm O.D.)  
H1 2 Captive Bolt Straps 
J 4 M12 x 35 x 1.75 Bolts, Nuts & Lockwashers 
K 2 M12 x 90 x 1.75 Bolts and Nyloc Nuts 
L 1 Self Tapping Screw (30mm long) 
L1 1 Spacer (15mm long. 16mm O.D. Bush) 
CB 2 M16 x 50 x 2.0mm  Coupling Bolts, Nuts and Lock Washers 
Z        1         ZEP35 Electrical plate (not shown) 

FITTING 
1. Remove spare wheel.  Remove and discard towing eyes and cut bumper as shown below. 
2. Loosely attach Rear Mounting Cleats (D1) to Captive Nuts in vehicle frame using Bolts (D) 
3. Loosely attach Cross Bar (A) to cleats (D1) using 2 Bolts (J) . Note: It may be necessary to modify spare wheel cage to get 
 Cross Bar into position. 
4. Attach Side Plates (E) to Cross bar (A) using the remaining Bolts (J) and also to vehicle frame using 2 Bolts (F). 
5. Attach Forward Mounting cleats (G) to Side Plates (E) using remaining Bolts (F) and to vehicle frame using Captive Bolt 
 straps (H1) inserted into chassis through large hole on underside of frame and Nuts (H).  Note: When fitting to Space 
 Wagon use Large Flat Washers (40mm O.D.) between Cleats (G) and vehicle frame. 
6. Attach Centre Tube (C) to Cross Bar (A) using Bolts (K).  Tighten all bolts.  Refit Spare Wheel. 
Note: On 4WD model fit Spacer (L1) between plastic spare wheel stop and vehicle using long Self Tapping Screw (L). 
 
This towbar must be used with either a Witter Towball (part number Z1) or Class A50-1 or A50-X towball dimensionally  
Conforming to A50-1 with a ‘D’ and 'S'  value greater than or equal to that of the towbar. 
Please refer to the vehicle specification for the trailer weight and nose limits, which must be observed. 
Recommended torque settings: M8 - 27Nm, M10 - 53 Nm, M12 - 95 Nm , M14 - 150 Nm, M16 - 214 Nm 
 

 
 
WITTER TOWBARS Deeside, Flintshire, C5 2NY.                Witter-towbars.co.uk Issue 1 

                                                     

µW0001CL56B-FIT$011103150000uÄ
W0001CL56B-FIT$011103150000

 


